Questions to Lecture 4 – Unemployment 

1. Define unemployment as a macro issue. What condition must a person satisfy to be considered unemployed.

Unemployment is the inability of labor-force participants to find jobs that affects people most direct and severely. The loss of a job means a reduced living standard

and psychological distress, lose of income, lost experience, skills and confidence.

 Alternative definition – willing to work at the same wage and type of job as people wih similar skills.

To consider as unemployed person should be above 16 years old (or 15+ in CR) and willing to work and searching for job (+ready o work – cannot be ill)
2. Who is out of labor force? What is the labor force participation in your country? How does it differ by gender? - 
People who are neither in paid employment nor seeking a job.

Ex:

*People who choose to devote their energies to household responsibilities or to unpaid charity work. 

*Under 16 years old

*Retired people

*Homemakers

*Students

You have to find information on labor force participation in your country

3. If more teenagers stay in school longer, what happens to a) production possibilities, b) unemployment rates?

The total output will be reduced and unemployment rate will rise if more teenagers stay in school longer .

Production possibilities will rise – as labor force will become more skilled.

Unemployment rate will go down – students will not even join the labor force, so they wouldn’t be counted in.

4. Who are discouraged workers? What impact do they have on the level of real versus reported unemployed?

Individuals who would work if a job is available but are not seeking for a job themselves. These people would like to work but are discouraged by unsuccessful job search.

Real unemployment is thus higher than reported – because they still would like to work, but are not counted as unemployed.

5. Why do we observe phantom unemployed? What impact do they have on the level of real versus reported unemployed?

 We observe phantom unemployment because most people who are not interested in working would likely to get welfare benefits if they pretended or say that they are interested in working  or searching for a job.

Real unemployment would be lower than reported unemployment, because the phantom unemployed would be counted as job seekers.

6. What factors might explain the rising labor force participation rate of women and declining labor force participation of men in the last 50 years?

The population now is much older in average then it was, so most of me are on retirement and there are few people who are working. That explains the declining labor force participation of men.

Nowadays the medicine improved and women  can have pills, and decide when they are going to have children this is the explanation of rising labor force participation rate of women.

7. Explain the intuition behind Okun’s law.

Okun's law is the relationship between unemployment and production possibilities curve. 1 percent more unemployment results in 2 percent less output.

Intuition: higher unemployment -> these workers do not produce anything -> lower output

8. Explain the flow equation in the labor market sE = fU.

People can be employed or unemployed. 

sE – number of employed people with probability to find a job

fU – number of unemployed people with probability to lose a job

fU > sE people will find a job faster

fU < sE it will be more difficult to find a job

sE – number of Employed people who have lost their job (s – probability of job separation)

fU – number of Unemployed people who have found job )f probability of job finding)

sE = fU – equilibrium = number of people who have found job equals to number of people who lost jobs

9. What is the main underlying cause of frictional unemployment?

The main underlying cause of it is because people are selective and they need time to find a job that appeals to them.

10. State three reasons for existence of search and matching frictions in the labor market.
Three reasons are:

 finding out what jobs are available 

consideration of salary and required skills

-differences among skills of workers and requirements of jobs

- asymmetry of information – I know everything about me, but do not know how the job/other applicants are

- low geographical mobility; limited retraining

11.  What are the main public policies targeting frictional unemployment? Give examples from your own country.
The main policies targeting frictional unemployment are: 

Activation programs

Unemployment benefits

In Belarus, for example, those people who are unemployment but were registered in a labor market are paid the unemployment benefit until the job will be found.

12. What is the main underlying cause of structural unemployment?

The main cause of structural unemployment is mismatched between skills or location of job seekers and the requirements of available  jobs not only this but also when the supply of labor exceeds the demand.

main cause – changing composition o demand among industries or regions

E.g.: 10 years ago – most wanted were IT engineers, nowadays the trend shifts to doctors and health care personel

13. Give an example of sectoral shift that affected employment in your country.

From 2003 to 2008 there were little changes in sectors in Belarus. The agriculture decreased from 14% to 8.4%, industry rose from 34.7% to 41.5% and services declined only for 1.2% from 51.3% to 50.1%. 

14.  Describe the effects of minimum wage law on the level of unemployment.

The quantity of the labor force demanded by employers would be reduced thereby leading to higher unemployment.

15. What are the incentives for firm to pay higher than equilibrium wage - i.e. efficiency wage?

High wages make workers more productive. The more a firm pays its workers, the greater their incentive to stay with the firm if the payment would be reduced there is a possibility of workers quitting the job for a higher paying job.

· Reduction of labor turnover, decreased probability of union emergence

· To avoid self-selection based on opportunity wage

· To avoid moral hazard

16. What do you understand under adverse selection in the context of efficiency wages argument?

Disadvantaged firms due to less information paying wages above equilibrium level to reduce workers who know their own outside opportunity to self-select (adverse selection).

Good people know their price and will go for jobs that will pay them enough – i.e. if we set wages too low, only bad workers will apply.

17. What do you understand under moral hazard in the context of efficiency wages argument?

Employers paying higher wages to control inappropriate behavior of people when they are not perfectly monitor because they are likely to behave appropriately if there  is a greater risk of being fired.

Higher wage means that people do not want to get fired (they will lose this income)– so they will increase their efficiency.

18. What is the main underlying cause of seasonal unemployment? How can we affect it?
The main underlying cause of seasonal unemployment is that people may work only during different seasons. For example some crops are grown only in summer and in this period farmers have work.  + you cannot affect it a lot
19. What is the main underlying cause of cyclical unemployment?

The main cause is inadequate demand for goods and services which leads to low demand for labor force.

20. How would you explain the argument of avoiding the adverse selection in the context of efficiency wages?

If people were paid less then there is a possibility of quitting and finding another job and decreasing average quality of labor force and decrease in productivity.

21. What can you say about the duration of unemployment spell in the Czech Republic (e.g. compared to USA)? Can you find data that would comment on duration of unemployment in your country?

The average duration of unemployment in Czech republic is 22.7 months while in Unites States is 3.9 months. In Belarus it is 4 months.

22. What can you say about the problem of youth unemployment in the European context

The problem of youth unemployment in the European cities is an important problem. A lot of young people loose the ability to enter labor market because of high number of school drop outs.

· Youth has the highest unemployment rates and it is not temporary unemployment (which would be understandable, as they are in the period of career search) but long term unemployment
23. What theoretical implication has the full employment goal for price level? What does this imply about the relationship between unemployment and inflation.

Full employment  leads to labor and resources scarcity.  As market participant bid for remaining resources, wages and prices would start to rise. The signal of full employment  is rising prices while some unemployment leads to falling prices.

